— /N ERERTREIZT A= TA(HES
=
SHAE(20225F)4A24H ~ HF54 (20234 )3A31RH
BA[H
# B + % i &
I #EE
1. Bigk&
BEASEIODBRE 280,000 A120FH, —&60FH. #&100FH
ZEETihig A ER RS XS 200,000 L PR%E200FH
Bt at 480,000
2. FMEMNEH
D5l#ES 355,489 AR —BEEFEHRES
189,338 i EEGES
@F & (ERBERH) 27,405 RIEDILI15405. ZDHh12000
Q@F & (FRiEE) 500,000 E#
ZHREMNEFR 1,072,232
3. EEIES
DEERA KIS 0 EERCMCE X (B EBIRK) BR<
BEEENE 335,812 10/158 EERULEPYRBRAEB I
QEFEFE IR
fiiBh & xR F¥ 308,700 35[ %> (F&iE220E]., Bk 1E. X<AR12E)
Bt ot F 9,600 9/175% %
@REDIWLES 26,900 I B B F 55 D BREE (RTH S DA BIRRC)
GOtthig L2 IR 0
(OP=£ X153 0
@R U 74,250 B U248 S (2022/5~2023/2)
= e 755,262
4. ZOfIREE
SZHRAL 4
Y2 4,000 IOJTR52022F & b
ZOhINEEE 4,004
BERaEst 2,311,498
I ®BEER
1. E%E
DEERAERBE 7,900 EXEPHEONERNER
CESTEIE 206,185 PFEPYBRILFTREER
QEEFELS
fliBh & xR EE 527,940 35[] 4> (F&:E22[E, #K1E., X<7AR12ME)
EHEURSSE A 15,661 A (11,4210) + £ 4% (4,240M)
@KREDWLEE 20,229 RV TBER, TOMERLGE
Otuig ks 5,000 —@ATrRTaSI I
(L1553 20,000 FE2#5/E0 ] EBREHEE th
@ fEU 4,500 FSERE
FE&E 807,415
2. BEHE
(M AE
AN4Et 0
(2) Db EE
BB E 200,000 @20F M x 104
HELE 111,814 Rk, 127, . T Ofhik R
EfEH 2,640 F-N-LVALE, BRI E
SEE 0 ‘BER LABEERE. BHEALGL
REXEE 0
BEERE 92,151 SCN, B, NTTHAE
EBRRE 0
X FEH 1,815 RAF I RE
MRRE 10,000 EHREABOR) G
KEABE 3,665 ABIENRESKER
BEERE 0
REEF 9,800 RS T 47 RI% (28X x @350)
iR E 0 HE(BHRTSE)
B 0
s 0
AR 0 EN#RFR
e 1,000 IOJzRA52022H EH
ZOhEEE 432,885
HEEL 432,885
RERAMH 1,240,300
WHAS: | iR AE 1,071,198
m #&E54IE
BE NS 0
vV ®&FE5ER
wENERAT 0
LA F BREA ISR 1,071,198
ATHASR R IE R BA ZE 58 0
RIARFLIFBRBAEER 1,071,198 [#2#i$ HEIIIHERRIZSR




